
1. Two resistors of 200 each are connected in parallel and this 

combination is connected to a 40 V supply. Find the voltage across 

each resistor.

प्रते्यक 200 वाले दो प्रतिरोधकोों को समाोंिर (पैरेलल) में जोडा जािा है और इस

सोंयोजन को 40V आपूतिि से जोडा जािा है। पे्रत्यक प्रतिरोधक का वोले्टज ज्ञाि

करें।

(a) 30 V

(b) 40 V

(c) 20 V

(d) 10 V



2. One mile is approximately equal to kilometer.

एक मील लगभग कलोमीटर के बराबर है।

(a) 0.8

(b) 1.2

(c) 1.6

(d) 1.4



3. When 1 kg of water is cooled from 4°C to 0°C, its volume is

(a) first less then more

(b) falls short

(c) becomes more

(d) remains the same

जब 1 kg पानी को 4°C से 0°C िक ठोंडा कया जािा है, िो इसका आयिन है।

(a) पहले कम होिा है और फर अ धक हो जािा है

(b) कम हो जािा है

(c) अधक हो जािा है

(d) समान रहिा है



4. The potential energy of an object of mass 20 kg at height h is 600 

J. Find the value of h. (Assume g = 10 m/s2) 

ऊँचाई h पर 20 kg भार वाली वसु्त की इस्थतिज ऊजाि 600 है। h का मान ज्ञाि

करें। (g = 10 m/s² मानें)

(a) 3 m

(b) 2 m

(c) 1 m

(d) 30 m



5. A small angular surface formed between two surfaces is called

(a) chamfer

(b) Chuck

(c) collar

(d) contour

दो सिहो ों के बीच बनी एक छोटी कोणीय सिह को कहा जािा है।

(a) चैम्फर

(b) चक

(c) कॉलर

(d) कनू्टर (समोच्च रेखा)



6. Two resistors of 1000 each are connected in parallel and this 

combination is connected to a 40 V supply. Find the current supplied 

by the voltage source.

1000 वाले दो प्रतिरोधको ों को समाोंिर (पैरेलल) में जोडा जािा है और इस सोंयोजन

को 40V आपूतिि से जोडा जािा है। वोले्टज स्रोि द्वारा आपूतिि की जाने वाली धारा

ज्ञाि करें।

(a) 1.1 A

(b) 1.5 A

(c) 0.8 A

(d) 1.75 A



7. The systems of heat transfer between bodies separated by 

conduction and convection are -

(a) Vacuum

(b) aluminum

(c) Water

(d) Ice

चालन और सोंवहन द्वारा अलग तकए गए तपोंडो ों के बीच ऊष्मा स्थानाोंिरण की

प्रणातलयाँ हैं -

(a) तनवािि (वेकू्यम)

(b) एलु्यतमतनयम

(c) पानी

(d) बफि



8. 5 units of effort are applied to a 10-unit load. The distance 

traveled through effort and load are 50 and 20 units respectively. 

Find the efficiency of this machine.

10-यूतनट लोड पर 5 यूतनट प्रयास लगाए जािे हैं। प्रयास और भार के माध्यम से

िय की गई दूरी क्रमशः 50और 20 इकाई है। इस मशीन की दक्षिा ज्ञाि कीतजये।

(a) 50%

(b) 80%

(c) 60%

(d) 70%



9. The unit of thermal conductivity is.

ऊष्मीय चालकिा की इकाई होिी है।

(a) J.s.K

(b) J.s¹.m¹.K¹

(c) J1.51.kg¹ -1

(d) J.s¹.K



10. _______ Angle is the angle between two planes.

(a) biplane

(b) polar

(c) spline

(d) offset

_______ कोण दो िलो ों के बीच का कोण है।

(a) बीपै्लन

(b) धु्रवीय

(c) स्प्लाइन

(d) ऑफसेट



11. Unsolicited electronic messages sent for promotional purposes 

are called

(a) URL (URL)

(b) virus

(c) unzip

(d) spam

प्रचार उदे्दश्ोों के लए भेजे जाने वाले अवाोंतछि इलेक्ट्र ॉतनक सोंदेश कहलािे है।

(a) यू.आर.एल. (URL)

(b) वायरस

(c) अनतजप (unzip)

(d) सै्पम (spam)



12. The heat per unit mass required to change a substance from solid 

to liquid at the same temperature and pressure.

(a) resolidification

(b) vaporization

(c) sublimation

(d) latent heat of liquid

तकसी पदाथि को समान िापमान और दबाव पर ठोस से िरल में बदलने के तलए

प्रति इकाई द्रव्यमान की आवश्किा होिी है।

(a) उपयुिक्त वध से जमने की क्रया (रीतजलेशन)

(b) वाष्पीकरण (वेपोराइजेशन)

(c) पररशोधन (सब्लिमेशन)

(d) द्रवण की गुप्त ऊष्मा



13. A train travels 45 m in 3 s. Then what is the speed of the train in 

km/h?

एक टर ेन 3s में 45 m यात्रा करिी है। िो km/h में टर ेन की गति तकिनी है ?

(a) 48

(b) 54

(c) 51

(d) 50.5



14. In class 3 lever, in which direction does the effort and weight go?

(a) in vertical direction

(b) depends on the load

(c) in the opposite direction

(d) in the same direction

क्लास 3 लीवर में, प्रयत्नऔर भार तकस तदशा में जािे है ?

(a) लोंबवि तदशा में

(b) लोड पर तनभिर करिा है

(c) वपरीि तदशा में

(d) समान तदशा में



15. A ball of mass M is dropped from a height H. At height H/3, the 

ratio of its potential energy (PE) and kinetic energy (KE) will be equal 

to which of the following?

M द्रव्यमान की एक गेंद को ऊँचाई H से तगराया जािा है। ऊँचाई H/3 पर, इसकी

ब्लस्थतिज ऊजाि (PE) और गतिज ऊजाि (KE) का अनुपाि तनम्नतलब्लखि में से तकसके

बराबर होगा?

(a) 1/4

(b) 1/3

(c) 1/2

(d) 1
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